({rm K}" + {rm K})/(pi" +pi)

Ratio to ALICE

o
©

o
0

o
\l

o
o

o
&

o
~

0.3

0.2

0.1

7000 GeV pp Soft QCD
7 I T I L T I T | T I T I T I T I T | L I T I T I T l— ﬂ
L ) 15
- (K/K)/(1t+17) vs pT (alice2015-y0.5) 1z
- 13
- = ALICE 13
— Epos 1.99.crmc.1.6.0 Ihc —N
— —A— Pythia 6.428 370 :3
—  —— Pythia 8.170 default ™
. 32
n [
- o
- 13
- EgEBEER g™
L (o)
o
_ ™M
B —
- >
i — X<
m .S,
— — C
— — 'S
B — <
— J@
- e
)
- 15
- —
- — O
S O O R I I w
= 42

" 1 1 1 1 | 1 1 1 1 " | " 1 1 " 1 " |

0 1 2 3



	Contents
	Page 1


